
(1) How does the annual average sun angle at 
solar noon (that is, the sun angle at noon averaged 
over a full year) depend on latitude?

(A) As latitude increases, average sun angle at 
solar noon decreases. 

(B) As latitude increases, average sun angle at 
solar noon increases.

(C) Averaged over a full year, sun angle at solar 
noon is the same at all latitudes.



(2) Averaged over a whole year, the farther a place 
is from the equator, the lower the sun angle is at 
solar noon. Why?

(A) At higher latitudes, the sun is lower in the sky 
at solar noon.

(B) At higher latitudes, the sun’s rays strikes the 
earth at a lower angle.

(C) The earth is a sphere, and it’s surface curves 
away from the sun at higher latitudes.



(3) Averaged over a whole year, how does 
insolation at the earth’s surface depend on latitude?

(A) Insolation decreases with increasing latitude.
(B) Insolation increases with increasing latitude.
(C) Averaged over a full year, insolation is the 

same at all latitudes.



(4) Why does the length of daylight vary with 
time of year (except at one latitude)?

(A) Because the temperature varies with time of year. 
(B) Because the distance between the earth and sun 

varies, thanks to the earth’s elliptical orbit.
(C) Because the amount of each latitude circle lit by the 

sun varies, thanks to the way that the axis of 
rotation tilts. 

(D) Because of the seasons.



(5) Which one of the following statements is 
true at the equator?

(A) The sun angle at solar noon varies with time of 
year, but the length of daylight doesn’t.

(B) The sun angle at solar noon is greatest at the 
solstices. 

(C) The sun angle and length of daylight are both 
greatest during the summer.



(6) Which one of the following statements is 
true at the poles?

(A) It is daylight from the spring equinox to the 
autumn equinox, then dark until the spring 
equinox again.

(B) It is daylight from the summer solstice to 
the winter solstice, then dark until the 
summer solstice again.

(C) The sun appears on the horizon at solar 
noon for half of the year.



(7) Which one of the statements below is true 
about any particular place outside the tropics?

(A) The average winter day is shorter than the 
average autumn day.

(B) On the average, the sun angle at solar noon is 
lower in winter than in fall.

(C) On the average, the sun angle at solar noon 
and the number of hours of daylight are the 
same in spring and in summer. 



(8) Which one of the statements below is true 
about any particular place within the tropics (except 
perhaps the equator) over the course of a year?

(A) The dates of maximum and minimum solar noon 
sun angle are the same as they are at latitudes in 
the same hemisphere outside the tropics.

(B) The dates of maximum and minimum length of 
daylight are the same as they are at other latitudes 
in the same hemisphere.

(C) The lowest sun angle at solar noon is higher than 
the highest noon sun angle at any time of year at 
any latitude outside the tropics. 

(D) The variation in the length of daylight over the 
course of the year is the same as it is at latitudes 
outside the tropics.



(9) Suppose that the orientation of the Earth’s axis 
of rotation relative to the sun were the same as it is 
currently at the June solstice, all year long. 

What would the seasons be like?

(A)Similar to today’s, but warmer.
(B) Similar to today’s, but warmer in the N. 

Hemisphere and colder in the S. 
Hemisphere.

(C) There would be no seasons.



(10) How does the annual-average sun angle (that 
is, the sun angle, including positive values during the 
day and negative values at night, averaged over 24 
hours for a full year) depend on latitude?

(A) As latitude increases, average sun angle 
decreases. 

(B) As latitude increases, average sun angle 
increases.

(C) Averaged over a full year, sun angle is the 
same at all latitudes.



(11) How does the annual-average length of 
daylight (that is, the number of hours of daylight 
averaged over a year) depend on latitude?

(A) As latitude increases, average length of 
daylight decreases. 

(B) As latitude increases, average length of 
daylight increases.

(C) Averaged over a full year, the length of 
daylight is the same at all latitudes.


